APCSA
Chapter 7 Quiz


Answer the following using nouns, verbs, and -ly words. 



1.
When traversing the characters in a string, the bounds are ____________________.

2.
Insert a statement to terminate the loop when the end of input is reached.

boolean done = false;

while(!done)

{

   String input = in.next();

   if(input.equalsIgnoreCase("Q");

    ____________________

   else

   {

       double x = Double.parseDouble(input);

       data.add(x);

   }

}

3.
Insert the missing statement in the following code fragment. Note that the loop ends when the user enters a negative number or zero.

double value;

do

{

    System.out.print("Please enter a positive number: ");

    value = in.nextDouble();

}

____________________

4.
One common method for indicating the end of a data set is a(n) ____________________, a value that is not part of the data.

5.
A loop that runs forever and can be stopped only by killing the program or restarting the computer is called a(n) ____________________.

6.
A loop which requires you to go halfway into it before knowing whether or not to terminate is often called a(n) ____________________.

7.
In Java, unsophisticated programmers falsely believe that all for loops have ____________________ bounds.

8.
In the ____________________ loop header, you can declare multiple variables, as long as they are of the same type and you can include multiple update expressions, separated by commas.

9.
What is the value of x after the following nested loop?

int x = 0;

for(int i = 0; i <= 5; i++)

   for(int j = 0; j < i; j++)

          x = x + j;

10.
How many times does the following loop execute?

for (i = 0; i <= 25; i++)

 System.out.println( i * i);

11.
The ____________________ loop is executed at least once.





12.
Insert the missing statement in the following code fragment.

int years = 20;

while(years >0)

{

   ____________________

   double interest = balance * rate / 100;

   balance = balance + interest;

}

13.
Which of the following code fragements is considered bad style?

A)
public double getBalance()

{

   return balance;

}

B)
for (i = 1; i <= n; i++)

{

  double interest = balance * rate / 100;

  balance = balance + interest;

}

C)
 public int getYears()

{

   return years;

 }

D)
for(int i = 1; i <= years; i++)

{

    if(balance >= targetBalance)

      i = years + 1;

      else

      {

          double interest = balance * rate / 100;

          balance = balance + interest;

      }

}


14.
Insert the missing statement in the following code fragment.

for(years = 1;

  (balance = balance + balance * rate / 100) < targetBalance;

   years++)

  ____

A)
;

B)
:

C)
years--;

D)
balance++;

15.
What does the following statement sequence print?

sum = 0;

for(i = 1; i <= 10; i++);

     sum = sum + 1;

System.out.println(sum);

A)
6

B)
11

C)
21

D)
55

16.
Which of the following is considered a loop with a hidden danger?

A)
for(i = 1; i <= n; i++)

B)
for (years = n; years > 0; years--)

C)
for(i = 1; i != n; i++)

D)
for (int i = 1; i <= 10; i++)

  System.out.println(i * i);







17.
The following code generates a triangle. What is the missing statement?

String r = "";

for (int = i; i <= width; i++)

{

   ____    

      r = r+ "[]";

  r = r+ "\n";

}

return r;

A)
String input = in.next();

B)
for (int j = 1; j <= i; j++)

C)
break;

D)
for (int j = 1; j <= i; j--);

18.
If a loop is executed for a definite number of times, a(n) ____ loop is usually appropriate.

A)
random

B)
nested

C)
infinite

D)
for

19.
The following loop is executed ____ times.

for(i = a; i <= b; i++)

A)
b - a + 1

B)
b - a

C)
b +  i

D)
b + a + 1

20.
A(n) ____ is used when a variable runs from a starting to an ending value with a constant increment or decrement.

A)
while loop

B)
for loop

C)
switch

D)
symmetric bound

David A. Young
page 1
01/27/2008

